CHAPTER 2

Multiple Choice Questions
 

 A brokerage account in which purchases can be made using credit is referred to as which type of account? 
A. clearing
B. funds available
C. cash
D. call
E. margin

  The call money rate is the: 
A. rate investors' pay on margin loans.
B. percentage of a security's value that must be maintained as margin.
C. interest rate that must be paid on any margin shortfall.
D. rate a broker pays to a bank for funds loaned to customer margin accounts.
E. minimum percentage rate of equity that must be maintained in a margin account.

 


 Kate just purchased $7,000 worth of stock. She paid $5,000 in cash and borrowed $2,000. In this example, the term margin refers to: 
A. the total amount of the purchase.
B. the percentage of the purchase that was paid in cash.
C. the percentage of the purchase paid with borrowed funds.
D. any future increase in the value of the stock.
E. any future decrease in the value of the stock.
 The minimum equity that must be maintained at all times in a margin account is called the: 
A. initial margin.
B. initial equity position.
C. maintenance margin.
D. call requirement.
E. margin call.

 


 When your equity position in a security is less than the required amount, your brokerage firm will issue a: 
A. margin call.
B. margin certificate.
C. cash certificate.
D. limit order.
E. leverage call.

  Stuart purchased 300 shares of Microsoft stock which he has pledged to his broker as collateral for the loan in his margin account. This process of pledging securities is called: 
A. margin calling.
B. hypothecation.
C. leveraging.
D. maintaining the margin.
E. street securitization.

 


 This morning, Josh sold 800 shares of stock that he did not own. This sale is referred to as a: 
A. margin sale.
B. long position.
C. wrap trade.
D. hypothecated sale.
E. short sale.
 The amount of common stock held in short positions is referred to as the short: 
A. margin.
B. shares.
C. proceeds.
D. sale.
E. interest.

  Asset allocation is the: 
A. selection of specific securities within a particular class or industry.
B. division of a purchase price between a cash payment and a margin loan.
C. division of a portfolio into short and long positions.
D. distribution of investment funds among various broad asset classes.
E. dividing of assets into those that are hypothecated and those that are not. 
 Which one of the following formulas is correct for determining the critical price on a long stock position? 
A. P* = (Amount borrowed / Number of shares) / (1 - Maintenance margin)
B. P* = (Amount borrowed / Number of shares) / (1 + Maintenance margin)
C. P* = (Amount borrowed / Number of shares) / (Maintenance margin)
D. P* = (Amount borrowed / Number of shares) / (Initial margin - Maintenance margin)
E. P* = (Amount borrowed / Number of shares) / (1 + Initial margin)

  What is the purpose of a margin call? 
A. to inform you that your margin loan is due and payable
B. to demand funds to increase your margin position
C. to let you know the amount of funds that are now available for you to borrow
D. to advise you that the interest rate on your loan has changed
E. to remind you of the upcoming monthly payment due on your margin loan
 
 An investor with a long position in a security will make money: 
A. if the price of the security increases.
B. if the price of the security declines.
C. if the price of the security remains stable.
D. only if the security has been purchased on margin.
E. only by shorting the security.

  Which one of the following describes a short position? 
A. purchasing a security on margin
B. selling a security that you originally purchased on margin
C. loaning a security to your broker to cover a margin call
D. having less equity than required in your margin account
E. selling a security that you do not own

 

 A short sale: 
A. creates a long position in a stock.
B. involves the borrowing of securities.
C. is the purchase of less than 100 shares of a stock.
D. is a bullish outlook towards a security.
E. is the resale of a security within four hours of purchase.
 The maximum loss you can incur on a short sale is: 
A. limited to your initial equity.
B. limited to your initial margin.
C. limited to the margin loan plus interest.
D. zero.
E. unlimited.
 What is the maximum loss you can incur if you have a long position on a stock in a cash account? 
A. the initial investment
B. the initial margin
C. the margin loan plus interest
D. zero
E. unlimited

 The determination of which individual stocks to purchase within a particular asset class is referred to as: 
A. security selection.
B. asset allocation.
C. security analysis.
D. market timing.
E. market selection.

  An investor who follows a fully active strategy will: 
A. move money between asset classes as well as try to select the best performers in each class.
B. move money between asset classes but will not be concerned about which individual securities are owned.
C. focus on picking individual stocks only.
D. maintain a relatively constant mix of asset classes while continually buying and selling individual securities.
E. concentrate solely on asset allocation to maximize potential returns.

 

 Taylor Industries stock is selling for $32 a share. You would like to purchase as many shares of this stock as you can. Your margin account currently has available cash of $6,200 and the initial margin requirement is 60 percent. What is the maximum number of shares you can buy? 
A. 193 shares
B. 252 shares
C. 322 shares
D. 360 shares
E. 408 shares

Maximum purchase = $6,200 / .6 = $10,333.33
Maximum number of shares $10,333.33 / $32 = 322 shares, rounded down to the last full share
You recently purchased 900 shares of Western Timber stock for $38 a share. Your broker required a cash payment of $25,650, plus trading costs, for this purchase. What was the initial margin requirement? 
A. 60 percent
B. 65 percent
C. 70 percent
D. 75 percent
E. 80 percent

Purchase cost = 900 x $38 = $34,200
Initial margin percentage = $25,650 / $34,200 = 75 percent
 Stephen is purchasing 800 shares of KPT, Inc., stock at a price per share of $18.70. What is the minimum amount the Federal Reserve will require Stephen to pay in cash for this purchase? 
A. $4,488
B. $7,480
C. $10,500
D. $11,968
E. $14,960

Minimum cash required = .50 x 800 x $18.70 = $7,480

 You purchased 1,200 shares of stock at $52 a share. The stock is currently selling for $55 a share. The initial margin was 70 percent and the maintenance margin is 30 percent. What is your current margin position? 
A. 28.36 percent
B. 25.00 percent
C. 75.00 percent
D. 63.59 percent
E. 71.64 percent

Margin loan = 1,200 x $52 x (1 - .70) = $18,720
Current equity = (1,200 x $55) - $18,720 = $47,280
Margin position = $47,280 / (1,200 x $55) = 71.64 percent
 You own 700 shares of a stock that you purchased on margin at a price per share of $20.12. The stock is currently valued at $23 a share. Your broker advised you today that your minimum equity position for this purchase is $5,635 as of today. What is the maintenance margin percentage? 
A. 25 percent
B. 30 percent
C. 35 percent
D. 40 percent
E. 50 percent
Maintenance margin percentage = $5,635 / (700 x $23) = 35 percent
 Rosita purchased 300 shares of a stock for $37 a share. Today, the stock is selling for $41 a share. The initial margin requirement is 70 percent and the maintenance margin is 30 percent. Rosita had to pay _____ in cash to purchase the stock and must have at least _____ in equity today. 
A. $3,690; $3,330
B. $3,690; $3,690
C. $7,770; $3,330
D. $7,770; $3,690
E. $8,610; $3,690

Initial cash requirement = 300 x $37 x .70 = $7,770
Current equity requirement = 300 x $41 x .30 = $3,690

 

 Allan purchased 600 shares of stock on margin for $41 a share and sold the shares five months later for $43 a share. The initial margin requirement was 65 percent and the maintenance margin was 30 percent. The interest rate on the margin loan was 10 percent. He received no dividend income. What was his holding period return? 
A. 1.05 percent
B. 5.32 percent
C. 4.88 percent
D. 7.50 percent
E. 7.82 percent

Initial investment = 600 x $41 x .65 = $15,990
Loan repayment = [600 x $41 x (1 - .65)] x (1.10)5/12 = $8,958.81
HPR = [(600 x $43) - $8,958.81 - $15,990] / $15,990 = 5.32 percent

 You purchased a stock for $19.60 a share using 70 percent margin. You sold the stock seven months later for $20.80 a share. You did not receive any dividend income. What was your holding period percentage return on this investment? Ignore trading costs and margin interest. 
A. 5.77 percent
B. 6.12 percent
C. 8.24 percent
D. 8.75 percent
E. 9.13 percent

HPR = ($20.80 - $19.60) / ($19.60 x .70) = 8.75 percent

  Marti purchased 100 shares of Better Foods stock on margin at a price of $43 a share. The initial margin requirement is 60 percent and the maintenance margin is 30 percent. What is the lowest the stock price can go before Marti receives a margin call? 
A. $17.20
B. $22.36
C. $24.57
D. $26.18
E. $29.90

P* = {[100 x $43 x (1 - .60)] / 100} / (1 - .30) = $24.57

  Aaron purchased 200 shares of a technology stock for $11.80 a share. The initial margin requirement on this stock is 85 percent and the maintenance margin is 60 percent. What is the lowest the stock price can go before he receives a margin call? 
A. $4.43
B. $5.59
C. $6.02
D. $8.33
E. $10.03

P* = {[200 x $11.80 x (1 - .85)] / 200} / (1 - .60) = $4.43

 

 
 You purchased 700 shares of stock for $54.30 a share. The initial margin requirement is 75 percent and the maintenance margin is 35 percent. What is the maximum percentage decrease that can occur in the stock price before you receive a margin call? 
A. 35 percent
B. 38 percent
C. 48 percent
D. 57 percent
E. 62 percent

P* = {[700 x $54.30 x (1 - .75)] / 700} / (1 - .35) = $20.88462
Maximum percentage decline = 1 - ($20.88462 / $54.30) = 62 percent
 Five months ago, you purchased 300 shares of stock on margin. The initial margin requirement on your account is 60 percent and the maintenance margin is 30 percent. The call money rate is 4.2 percent and you pay 1.75 percent above that rate. The purchase price was $18 a share. Today, you sold these shares for $21 each. What is your annualized rate of return? 
A. 26.15 percent
B. 28.18 percent
C. 62.77 percent
D. 68.87 percent
E. 74.64 percent

Initial investment = 300 x $18 x .60 = $3,240
Loan repayment = [300 x $18 x (1 - .60)] x [1 + (.042 + .0175)]5/12 = 2,212.65
HPR = [(300 x $21) - $2,212.65 - $3,240] / $3,240 = .26153
EAR = (1 + .26153)12/5 - 1 = 74.64 percent

  Two months ago, Trevor purchased 500 shares of stock at a cost per share of $74.20. The purchase was made on margin with an initial margin requirement of 65 percent. Trevor pays 1.6 percent over the call money rate of 4.7 percent. What will his total dollar return be on this investment if he sells his shares today at a price per share of $73.40? Ignore dividends. 
A. -$548.60
B. -$539.67
C. -$532.90
D. -$574.87
E. -$591.19

Initial investment= 500 x $74.20 x .65 = $24,115
Loan repayment = [500 x $74.20 x (1 - .65)] x [1 + (.016 + .047)] 2/12 = $13,117.90
HPR = [(500 x $73.40) - $13,117.90 - $24,115] = -$532.90

 


 
 

 You recently purchased 100 shares of stock at a cost per share of $23.80. The initial margin requirement on this stock is 80 percent and the maintenance margin is 50 percent. The stock is currently valued at $16.90 a share. What is your current margin position? Ignore margin interest. 
A. 71.01 percent
B. 71.83 percent
C. 73.47 percent
D. 73.69 percent
E. 74.80 percent

Margin loan = 100 x $23.80 x (1 - .80) = $476
Current stock value = 100 x $16.90 = $1,690
Current equity = $1,690 - $476 = $1,214
Current margin = $1,214 / $1,690 = 71.83 percent

  You recently purchased 1,300 shares of stock at a cost per share of $54.10. The initial margin requirement on this stock is 60 percent and the maintenance margin is 30 percent. The stock is currently valued at $42.30 a share. What is your current margin position? Ignore margin interest. 
A. 46.91 percent
B. 48.84 percent
C. 63.05 percent
D. 65.28 percent
E. 78.18 percent

Margin loan = 1,300 x $54.10 x (1 - .60) = $28,132
Current stock value = 1,300 x $42.30 = $54,990
Current equity = $54,990 - $28,132 = $26,858
Current margin = $26,858 / $54,990 = 48.84 percent
 Matt short sold 900 shares of stock at $11.50 a share. The initial margin is 80 percent and the maintenance margin is 50 percent. The stock is currently selling for $5.80 a share. What is Matt's account equity at this time? Ignore margin interest. 
A. $2,070
B. $3,590
C. $10,350
D. $11,950
E. $13,410

Proceeds from sale = 900 x $11.50 = $10,350
Initial margin deposit = 900 x $11.50 x .80 = $8,280
Short position = 900 x $5.80 = $5,220
Account equity = $10,350 + $8,280 - $5,220 = $13,410
